Datenblatt / Data Sheet MGB2-L2..B-PN-M-S3-GA-.-......

EUCHNER

=L

2155309 - 1-23.05.25 - ER - KJ - OE Blatt/sheet 1/1
EUCHNER GmbH + Co. KG KohlhammerstraBe 16 70771 Leinfelden-Echterdingen

"} Ethernet Protokoll in Abhéngigkeit des verwendeten MBM Busmodul / Ethernet protocol according to the used MBM Busmodul

Detail A

c /S\perrein;afz ilzn a%sgefalhrenep Zustand

E utomatic lockoutbar in "open" position. SLOTA SLOT?2
kS —_——

1 ——

g I[ — ! D !::1 L

] = \

S = -f---------------»l  SUNUORU

£ |

(=) | S l

= e IR E,‘.I.‘:.‘:.‘@ I

1S _II ________ _ W 1 I‘ 9 ©

< % t-----e--

3 ! T2=T

= O = FP~——e—]

= > - eseseses

-n
- [—} [—}
saesescsees

2 - .

o Inklusive:

8 XD1/XD2 PushPull Power - Erdungsschraube M6x8

+ (AC-FE-GS-M6X8-170020)

T XF1/XF2 PuschPull RJ45 Including:

(_% (IEC 61076-3-117, variant 14) - Grounding screw M6x8

o (AC-FE-GS-M6X8-170020)

=

S XF1PN1 XD1 DC24V

©  XF2PN2 vg  XD2DC24v D H = = :%ﬂ @ E

—

o " inklusive Funktionserde Montagematerial :

S assembly material for functional earth included

@©

£ : . . : .

S : : I = & o o ; 5 ui

€ Betriebsanleitung beachten 2 29 =9 3c 2s H s [ 8

B2 (bei Abweichungen zwischen Datenblatt und = =2 =2 <X <z = < = =

3‘5_ Betriebsanleitung gelten die Daten des Datenblattes) MGB2-L2B-PN-M-53-GA-R-175921 158711 | 175917 | 159480 | 157024 | 156718 | 169764 | 156682 - -

° Please observe the operating instructions MGB 2-L2HE B-PN-M-S3-GA-R-175919 158711 | 175917 | 159480 | 157024 | 156718 | 169764 | 156682 | 157369 | 106051

8 (in case ofdlsagrgement bgtween giata sheet and MGB2-L2B-PN-M-53-GA-L-175923 158711 175917 | 159480 | 156718 | 157024 | 169764 | 156682 - -

5 operating instructions, the information of the MGB2-L2HE B-PN-M-53-GA-L-175920 158711 | 175917 | 159480 | 156718 | 157024 | 169764 | 156682 | 157371 | 106051

8 data sheet are to be considered)

©

[}

£

S

hel

2

Q. an

§ Ubersicht der Kommunikationsdaten:

Z Overview of the communication data:

= Input

:(‘% Ethernet! standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

§ [ 1st Byte | BM_E G | - [ BM_ESYs | - | - [ BMEML2 | BM EMLT | BM_DRUN |
2 [ 2nd Byte \ Diagnose Byte (pluggable) |
o

i— Ethernet! standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

s 1st Byte LM1 EG [ LIMI EER | LM1_ESM1 | LMi_E_SMO | - [ IM1_LUK [ M1 SK [ LM1_D_RUN
] 2nd Byte - | - | - - | - [ tMi oL | MiLOT | LM1__OD

£ 3rd Byte Diagnose Byte (pluggable)

o

e

T Ethernet') standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

€ | 1st Byte \ - | - | - \ - | - [ LM1_SM1_I_S3 [ LM1_SM1_|_S2 | LM1_SM1__S1 |
[53

(&)

e Ethernet! standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

3 [ 1st Byte \ - [ - | Lm1_sM2 E_S1 | - [ - [ - [ - [ LM1_SM2 | 51]
oy [ 2nd Byte \ Diagnose Byte (pluggable)

w

E Ethernet” SAFE Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

& R e N = R = - R - ., B e |
z ! A ! . ! . . . ! . . . lMi_sm2_FILES! WM1FLUK | WMiFLSK |
o I ey SN e [ R e e s e R ]
2

S Output

2 Ethernet!) standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

S [ 1st Byte [ BM_ACK_G| - | - \ - [ - | - [ - \ - |
<

% Ethernet’ standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

= 1st Byte [LM1_ACK_G[LM1_ACK_ER] - \ - | - [ - | - | miocL |
[}

% Ethernet! standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

= [ 1st Byte \ - [ - [LM1_SM1_0_H3_B[LM1_SM1_O_H2_B[LM1_SM1_O_H1_B[LM1_SM1_O_H3[LM1_SM1_O_H2[LM1_SM1_O_H1]|
>

[

s Ethernet" standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

S 1st Byte \ - [ - [ - - [LM1_SmM2_O_H1_B] - [ - [LM1_SM2_O_H1|
[

o
=<% Ethernet" SAFE Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0

2 RN T T T T T T
3 : A : - : - : - : - : - : - : - . LM1_FO_CL
= Lo == [, Lo e Lo Lo R . e I
=

[53

(&)

2

Tel. +49/711/7597-0 Fax +49/711/753316 www.euchner.de info@euchner.de



	Blatt1
	Zeichenansicht1
	Zeichenansicht2


